Station 1 — Scientific Method

1. What are the six steps to the scientific method?

2. Read the situation below then answer the questions about it:

A group of college students were given a short course in speed-reading. The
instructor was curious if a monetary incentive would influence performance on a
reading test taken at the end of the course. Half the students were offered $5 for
obtaining a certain level of performance on the test, the other half were not offered
money.

a. What is the purpose of this experiment?np moneN Mokes o diffecence
Form a hypothesis about this experiment (Make sure it is in the proper

notation). T 4he. Studentis do beter, than money npres @ differenee
What is the independent variable? Mone
What is the control group? '/ Hhat doesnt Get money
What is the dependent variable? S ¢y e m-}f’sjf
Draw a graph and label the x and y axis with the proper headings.
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3. Read the situation below the answer the guestions about it:

A researcher is curious to find out what effect classical music has on people’s level
of relaxation (as measured by heart rate). He suspects that listening to classical
music will make people feel more calm and relaxed. He lets one group listen to
classical music for one hour. He lets another group sit in a quiet room for one hour
(i.e they hear no music). After one hour, he monitors the heart rate of each
participant to measure their level of relaxation.

a. What is the purpose of this experiment?0 €\ out & MUSIC els colm Pecpe
Form a hypothesis about this experiment (Make sure it is in the proper

notation). |f heGhore  Slowa dovn when l\sienlnq,Jrhcn HhoS 0 pOShve
What is the independent variable? UQIC. efect

What is the control group? SVOUP ror 00t \sento vmusc
What is the dependent variable? heart - ot e

Draw a graph and label the x and y axis with the proper headings.
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Station 2 — Significant Figures

. What are the 4 (or 5) rules for determining how many numbers are important in

a problem?
|, [eadng zeta revee count
ATt hng 2eros Coury (€ +here 1S o0EQMo)
3, ImendY zeros count
4, non-2800s alwons courrt
. What is the rule for determining how many significant figures there are when

adding or subtracting?
lawest number of 819, figs. Ofter Cecimno) point

. What is the rule for determining how many significant figures there are when
multiplying or dividing?

lowest Nuper of 519 ﬁg& “foral

. Determine how many significant figures there are in each of the following:

a. 780. 3 f.0.023 9
b. 0.00390 3 g. 1020010 (o
c. 8120 3 h. 1000.0 D
d.72 5 i. 0.0001 |
e. 91010 4 j.500 |

. Solve each of the problems to the proper number of significant figures:
a.6.4888 + 7.287 + 97.669 = |\\ 445

b.8.6-3.66= 4,9

C.9.984-9.1173= 0,80

d.96.2 + 9.2758 = |05 .H

e. 1006 + 19.178 = 1)) 4|(,
f.0.77 x 536 x 501 = Q1O OCD
g.9.5x0.07=0.7]

h. 94.45 + 10 = q



Station 3 — Scientific Notation

1. What are the 3 parts to writing any number into scientific notation?
.. deCvnan powt 3 Exporent

2. eXEnenhol pot
2. What are the 4 steps to writing a number in scientific notation?

a. When n is positive which way does the decimal move?

B
b. When n is negative which way does the decimal move?
N 9nT
3. Put the following numbers into scientific notation:
a. 123.4 1.9 x\0% e. 8.0012 8O AIO®
b. 145000 \ 15 0P f. 0.00234 3244073
C. 25.25 545 X10' g. 0.0123 |,53y)07@
d: 145 (as g0 h. 0.000008706 & 100 |0

4. Put the following numbers into standard form:

a.2.1x10*° gIoo e. 4.02x10° 4.4

b. 9.66 x 10* 0.6 bk f.3.3x10' 33

c. 6.04 x 107 0,004 g-1.5x10°0 015

d. 171x107 1) 00p00 h.7.9x10° 0,0000TG

5. Solve the following problems using the rules of scientific notation:
a. (1.2x10%) + (5.35x 10%) H.47%)0%
b. (3.67 x 10%) - (1.6 x 10Y) 3.51%10°
c. (6.0x10°) x (1.5x 10?) 9,00’

8.1x107%

d. 9.0 x 102 g.0ox (0—6



Station 4 — Metric Conversions

1. What are the 5 main units and their quantity measured and their
abbreviations used in the metric system?

Quantity Measured Unit Abbreviation
Lengtn Mmetec m
Moss Kbgram Kq

\ouwe Lifec L

Tenperature ¥elvin K
Tie Xcond S

2. Fill in the ladder with the correct prefixes and number of units:

3. What are the 3 steps to solve any metric conversion using the ladder method:

a. fiQ Sturhing <Por
b. COLNy \JUmps“

“Move oecimo)

4. Solve:
a. 160 cm = | (000 mm f£.56m="D00 cm
b. 14 km = 14000 m g.5L=9000 mL

c. 198 g = 0.19® kg
d.6.3cm=03 mm
e. 120mg =0:14 ¢

h.576 L =0.5 10 kL
i.3.42m =349 cm
j. 16 kg = 1000 g



Station 5 — English to Metric Conversion

1. What are the 6 steps used to solve problems using dimensional analysis?
a.

b
C.
d
e.
&

2. Solve the following problems:

a.7dans 2L l in. Wem x 939310 .

ICm
b.25ml=_D.] tsp. 25 mL x 00 op.
| mL

c.50kg=_1OD  1bs. 503 X 2'2]0%@'

d. 160 km = q l mi. e me('). ZH ‘!

e.36L= Ooqs’ ga| M
3Ly O

f. 500g = ZQD oz. ks

5009 x ©0352] o2
g. 300 mL = l cups I 9

ns3mm=_21.0 i 300mlx 1 L Y‘J_:ggj*«wﬂﬁ
1000 L. | L

523mm, _lom |, 03937
10 mm lem



